14.4.1.

(a) By distributivity of addition and multiplication, (18 x 93) + (18 x 7) = 18 X (93 + 7) =
18 x 100 = 1800.

(b) By distributivity, (12 x 5) + (8 x 5) = (124 8) x 5 =20 x 5 = 100.
By associativity of addition, (231 4 198) + 2 = 231 + (198 + 2) = 231 + 200 = 431.
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(d) By associativity of multiplication, (17 x 25) x 4 =17 x (25 x 4) = 17 x 100 = 1700.
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(e —— because 1 is an idenity with respect to multiplication.
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(f) 21 + 3= =0+ T because 0 is an idenity with respect to addition.

(g) 4(10+7)=4x17=68 and 4(104+7) =4 x 10 + 4 x 7 = 40 + 28 = 68 using distributivity
of addition and multiplication.



